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13 11. Sinif

Ingilizce

Open Your Heart - 2

1 - 6. sorularda bos birakilan yerlere uygun gelen ke-
lime veya ifadeyi isaretleyiniz.

1.

| ate so many snacks that | have a terrible stomach-ache
now. | ----
A) can’t have put sugar into the soup

B) should have worn cotton clothes
C) could have controlled my temper
D) might have been employed now
E) shouldn’t have eaten so much

Mrs Lavish got a very expensive mobile phone. It was
unnecessary to spend that much money on a gadget.
She - - - -,

A) shouldn’t have bought that cell-phone
B) never spends money for expenses
C) might have needed more money

D) must have spent less money

E) can’t have gone shopping

He forgot his wife’s birthday and she got crazy. He - - - -.
A) might have been got an extravagant present

B) shouldn’t have forgotten to celebrate it

C) must have been an honest man

D) couldn’t have gone to parties

E) should have studied more
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4.

g

According to a proverb, - - - - is the best policy.
A) loyalty

B) affection

C) honesty

D) courage

E) appreciation

- - - - is about finding echoes of another person in
yourself.

A) Forgiveness

B) Jealousy

C) Affection

D) Empathy

E) Loyalty

Let us - - - - ourselves today so that our children can
have a better tomorrow.

A
B

ignore

sacrifice

D) drift apart

)
)
C) regretful
)
E)

play a trick
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7 - 9. sorularda, verilen ciimleye anlamca en yakin
ciimleyi isaretleyiniz.

7.

All that glitters is not gold.
A) You can see lively and brilliant materials better.

B) Gold glitters, so all the glittering materials are gold.
C) You cannot appreciate the value of precious things.
D) Someone who looks good might not be good inside.
E) If anything is opaque and simple, it is also worthless.

Never forget that one swallow does not make a
summer.

A) If you see an event only for a short time, it is enough
to know the reason.

B) Remember that when you see a flower, that means
the summer comes.

C) A piece of evidence is not enough to prove what you
believe is true.

D) You can prove what you believe by finding a small
sign.
E) Everything is clear, there is no need to examine more.

It was as easy as falling of a log.
A) It didn’t take much effort.

B) All the items were so cheap.

C) Everybody helped each other.

D) He tried hard to finish the work.

E) | made a great success in the exam.
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10 - 12. sorulan verilen bilgilere gore isaretleyiniz. |

¢ Ted didn’t study enough and failed his exams.

¢ George drank too much cold drinks and has
a cold now.

¢ Jane didn’t lock her door and a burglar stole
her jewellery.

¢ Sarah yelled at her daughter and the little girl,

Sandra, is crying now.

10. Who should have locked the door?

1.

A) Ted

B) Jane
C) Sarah
D) George
E) Sandra

What should have Ted done?

A) He shouldn’t have drunk so much cold drinks.
B) He shouldn’t have yelled at the little girl.

C) He should have hidden the jewellery.

D) He should have locked the door.

E) He should have studied enough.

12. Why George is ill now?

A) He studied harder.

B) He yelled at the girl.
C) He failed his exams.
D) He drank cold drinks.
E) He stole the jewellery.

Cevap anahtarina ulagsmak i?_;in karekodu okutunuz.
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